442 [36'-10"]

sy === T T [y T

i

444 [37'-0"]

442 [36-10"]

Y

144"

Bmp-ayiliedAH uol-jieH Junojy Buijie) oowwe g9yZ\duelD UoieSHIOM a)uadAH pajunopy BuljieD\sieaosddy suoz isioH a|dweg\uINSoW ueyjeuyor\yels buussuibug go\BuliesuiBugy: A

N
eI

178 [14-10"]
180 [15'-0"]

CAPACITY: 0.5 TON

SYSTEM: 307 ENCLOSED TRACK (HYPERLITE)
CONNECTION: DROP ROD CONNECTIONS TO BLDG BEAMS
HOIST: STKO5VS-15

ELECTRICIFICATION: FESTOON

DROP CONNECTIONS MAX SPAN- 13'

YNOON NHOM  0v:+2:2) ®© ¥202-/2-60 :PoAES Jser]

SUBMITTAL REVIEW

E’JUSTOMER IS RESPONSIBLE TO VERIFY ALL DIMENSIONS.
SIGNED APPROVAL AUTHORIZES PWI TO PROCEED WITH
N%HOP FABRICATION AND INSTALLATION.

SHIPS WEEK OF _12/31 IF APPROVED BY _12/31

SIGN ABOVE FOR APPROVAL

1 Junoj Buiie) oowwi

PAINT COLOR:

YELLOW/GRAY PAINT

PAGE
20F 10

JOB:

HOIST ZONE CUSTOMER

SAMPLE APPROVAL DRAWING

QUOTE

DRAWING: SALESMAN:

CEILING MOUNT HYPERLITE HOIST ZONE
01 SALESMAN

TOLERANCES (U.N.O.):

DIMENSIONS: +£1/8"
ANGLES: £ 0.2°

3
rlioIST




Bmp-ayiliedAH uol-jieH Junojy Buijie) oowwe g9yZ\duelD UoieSHIOM a)uadAH pajunopy BuljieD\sieaosddy suoz isioH a|dweg\uINSoW ueyjeuyor\yels buussuibug go\BuliesuiBugy: A

H Junoy Buiied oowwe ey9¥zt NYNOOW NHOP  0t:72:2) © $202-L2-60 :PaAeS jseT

SHIPPING LIST
ITEM QTY PART NO. DESCRIPTION LENGTH UNIT WT. NET WT. FINISH
1 1 WDO01 BRIDGE 01 4.34 4.34 YELLOW, SAFETY
2 1 |WDO02 RUNWAY 01 52.99 52.99 GRAY
3 1 |WD04 RUNWAY 02 52.99 52.99 GRAY
4 2 |AS02 300-3 END TRUCK ASSEMBLY 27.15 54.29 YELLOW, SAFETY
5 7 | QUOTE-HC-AS21 ELECTROTRACK BRACKET ASSEMBLY 0.95 6.63 BLACK
6 1 QUOTE-HC-AS20 TOW ARM ASSEMBLY 1.38 1.38 BLACK
7 6 |RB1003 300 SERIES ENCLOSED TRACK END STOP 0.09 0.52
8 1 SET-90066 40 AMP SINGLE COLLECTOR 1.90 1.9
9 6 |- 7/16"-14" HEX BOLT (GR.8) 33/4in 0.19 1.14
10 12 | SET-90072 COPPER SPLICE CONNECTOR 0.04 0.45
11 2 |SET4-65-156 ELECTROTRACK 65AMP, FULL LENGTH 155 1/8 in 10.40 20.8
12 7 | SET-90075 ELECTROTRACK HANGER W/ HARDWARE 0.19 1.31 PURCHASED
13 1 SET-90068 END POWER FEED KIT 0.75 0.75
14 3 |SET-90071 SPLICE COVER SET 0.10 0.3
15 1 |- STARKE FESTOON KIT 180 in 5.30 53 PURCHASED
16 1 |SET4-65-128 ELECTROTRACK 65AMP, CUT 127 3/16 in 8.47 8.47
17 2 |HC55161X1 5/16"-18 HEX BOLT (GR. 5) 1in 0.00 0.01 ZINC-PLATED
18 4 |- 5/16" FLAT WASHER (GR. 5) 0.00 0.01 ZINC-PLATED
19 2 |- 5/16"-18 NYLON LOCKING NUT (GR. 5) 0.00 0 ZINC-PLATED
20 6 |- 7/16"-14 NYLON LOCKING NUT (GR. 5) 0.00 0.03 ZINC-PLATED
21 6 |- M6 x 1 HEX BOLT x 12mm 1/2 in 0.00 0.01 ZINC
22 6 |- M6 x 1 HEX NUT 0.00 0 ZINC
23 1 SET-90074 ELECTROTRACK END CAP 0.05 0.05
24 1 SET-90067 SINGLE TOW ARM 53/8in 1.09 1.09 PURCHASED
TOTAL WT # 214.77
PAINT COLOR: we
YELLOW/GRAY PAINT £6
JOB: DRAWING: SALESMAN:
HOIST ZONE CUSTOMER CEILING MOUNT HYPERLITE HOIST ZONE 3
SAMPLE APPROVAL DRAWING | 01 SALESMAN
FIOIST
Q U OTE TOLERANCES (U.N.O.): —_—
DIMENSIONS: +1/8"
ANGLES: +0.2°






